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1. How many three-digit whole numbers have no

1.
7’s and no 9’s as digits?
2. Kevin walks at a rate of 3 meters per second.  In a

2.
Race, he agrees to give a 50 meter head start to 
Chris, whose walking speed is 1.75 meters per 
second.  What is the number of meters that Kevin
must walk for the race to end in a tie?
3. For any numbers a, b, c, and d, the operation ® is

3.
defined as:
a
b
®
    = 
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4. A square region with perimeter 60 inches is made

4.
with square inch tiles.  Bob removes one tile from
the square and rearranges the remaining tiles without 
any overlap to make a rectangular region.  How 
many inches are in the new perimeter?
5. The inside wheels of a car traveling on a circular path
5.
are rotating half as fast as the outside wheels.  The
front two wheels are six feet apart.  What is the number 
of feet in the path traced by the inside front wheel in one 
trip around the circle?
6. A mouse starts at point A and travels this maze 

6.
according  to the arrows.  At point A and point B, 

C, or D, the mouse randomly chooses one of the 

outbound paths .  It exits the maze at one of the 

points E, F, G, or H.  What is the probability that 
the mouse exits the maze at point F?  Express your
answer as a common fraction.
7. Marianna only has nickels and quarters in her piggy
7.
bank.  Their combined value is $9.15.  Their combined 
weight is one pound.  Ninety nickels weigh one pound.

Eighty quarters weigh one pound.  How many nickels 
does Marianna have in her piggy bank?
8. What is the base 4 representation of the base 2 number
8.
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9. A farmer has previously fenced a field in the shape 
9.
of a trapezoid as shown.  The farmer divides the field
into exactly four congruent trapezoids.  How many
additional meters of fencing are needed ?  Express 
your answer to the nearest whole number.



10. Allison, Brian, and Noah have a six-sided cube.  All
10.
of the faces on Allison’s cube have a 5.  The faces on
Brian’s cube are 1, 2, 3, 4, 5, and 6.  Three faces on Noah’s

cube have a 2 and three of the faces have 6.  All three cubes

are rolled.  What is the probability that Allison’s roll is 

greater than each of Brian’s and Noah’s?  Express your 
answer as a common fraction.
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